3 Oougoon

000000000000 f(x)0OOODOOO0O0OO0O0OOO0OOODOOOOOCOOOOOOO
000000000 2,000 f(r;) 0000000000000 00O0O0OOOOOOOO
O000000000000000-00 (interpolation)J 000 0000000-00000

3.1 LagrangeU U

000n+10000000 (z4,%),(G=0,...,n)0000000000z0 yOOOO y=f(z)0
00000000000000000n00 ¥ = f(x;),(i=0,...,n) 0000000000 f(z)O0O
000000000000000f0-,000000000000000000000000000

fle) = Zaixi = ap+ @z +ax’+ -+ apa” (3.1)

0000 f(z)0O0O000Or+1000000000 n+10000000 ¢; 0000 n+10000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000

00000 3-10

(z,y) = (1,2),(2,3),(3,6) 00 0000000000000000000O000000000000O0
020000000000

ooodbooboobooboobboooobobboobOobbOobOd LagrangeDDODOOOOOON
0000000 P(x)000000O0CCODOOOOOOOO

o o= S islm =) oo
Pla) = 3= (32)

Z (x—20)(x—21) - (v — 2 1) (T —2pq1) - (2 — 2p) f(zp) (3.3)

= (xr — wo)(xk — 21) -+ (2 — Tp—1) (@ — Tpy1) -+ (T — Tn)

ooooo 3-20
ooooo (1,2),(2,3),3,6)0000000000000000O00OO0ODDOOOOOOOOO 2000
U000 Lagrange U DO DOOO0OOD0OOOODOO

3.2 NewtonOOOOO

Lagrange 0 000000 00O0OO0O0O0ODO0ODO0OODOOO0ODOODO0ODOODOODOODODO0ODOODOOO
goooon
000z, 21,...,%,...,ex 0000000 fo, fi,--s fire.., /x0000000000000000
O0000On00)000 (divided difference) 00 0O O
filzo,z1] = iz_ill (3.4)
Nilzo, 1] = fila, 22]

folzo,z1,m2] = p— (3.5)




flnnay] = Al ] 56

Ty — Tn

U00O00b0d0bOb0OU0ODLagrange 000 O0ODOOODODODOODODOODODOOODOO
P(x) = P(xo)+ (x — xo) fi[wo, 21] + (& — xo) (@ — 1) fa[o, x1, 22) +
---+(x—xo)(w—xl)---(w—xN_l)fN[xo,...,wN] (37)
good P(xg):fODDDDDDDDDDDDDDDDDDDDD Newton OO OOOOOOOooOoOd
000 Lagrange D 00000000000 OO0OOOOOOOOO

ogooboo 3-30
0000 3-100000b00dbdiboU NewtonOOODOOODODOOOODOOODODOODODOD Lagrange
gbbodbobooobuooboobbooobooaobboan

3.3 NewtonUUDOUOODOOODO

0000000o0oooo0b0ooo AmoboooD0ogdde, =2x+nh00000000OONewton
gbogboobobobooboobobobobbobuobobobobooboobooboboobd

DDDDDDAfn:fnJrI_fn (38)
000000 Vi = fn— faot (3.9)
00000068fn = fasijz — facry2 (3.10)

0000000000000000000000000000000000000000000000
0000D0000000000000000000 f4120 f,1,0000000000000000
0D0000000000000000000000

0000000000000000000000 (2?7)00000000000000000

1

falwo,-sz] = —H A" fo (3.11)

O00000OONewtonOOOOO (?2?7)000000000000O0O0ODO

Pa) = fot(o—0) iAo+t (@m0 (o= ayt) ot (3.12)
T = 0 T xoh 0 xz 20 xz wN_lN!hN .
goono
A2f, = AAfn) = Afugr — Afn, A" =A""1f 1 — A" L, (3.13)
DDDDDDDDanDDDDDDDDDDm(s):mo—i-hSI:IDDI:ID
“1)---(s=N=+1
P@) = fotsAfptoo BTN NFD v (3.14)

O000000O NewtonOUDOODOGOOGODOOOODO

ooooo 340
0o00oooo (1,2),(2,3),3,6)00000000000000000O00OOO0OD0OOOOOOOOOO
NewtonOD OO UOOOOOOOOOOODOOODODOODOOODODODOODODODODODOOOOO
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3.4 UOOgOgOooOoogd

O0000000000000000ON+10000000000000000 [z9,zy)0000 NO
0000000000000 0O000O000o0O0000n [zg1,z6)0 (m=-1)000000000O0O
O00mOD0000mOOOO0OOOOOOOODOOOOOOOOOO0 (x,y,) 0000

O000mO00000 S(»000000mOOOD0OOOO (spline interpolation) 0000
0000000000 300000000 S(x)0000000008(x)00000 [25_1,2,] 00
ud

(zp — 2)2{2(x — 2_1) + hy} v (x — zp_1)?{2(zp — z) + hy}
03 vk 03
(zr — ) (2 — 21) d (z — 2p1)*(z), — 2)

+ dpa -
h; hi;

(3.16)

0000000000000d,0 2,000000000 §'(z) 000~ =a —2,, 000000
0000 ¢, 00000 1000000000 S'(zx-0)=5(z,+0)00000000000000
di (k=0,---,n)0n+100000000S8(z)00002000000000000000000
S"(xp—0) = S"(xp+0) (k=1,---,n—1)000n+1000000r-100000000000
000000000000000200000000000000000000000000000

00 I0d; = S'(z1 +0), dy=S"(zy —0) (3.17)

00000000000
00 1oS"(z;+0)=S5"(zxy —0)=0 (3.18)

goboobooobooboooooooboooobobo
ubbooboobuoobuooboobooobboobuoobooboobobbobooboooboaonog

ugb—obooobbuoobbbuodbbboo-ooobbuooobobooobbooboboood

gboboobooooboooboooboooboobbooboobbooogd

3.5 Uoogon

Lagrange 0 000000000 DO0OOOOODODOOO0ODOO0OO0OOO0ODOOOO0OOOOOOOO
oo b oo ooooooon
oo b oo oooooon
oooooooo

00000000000000000 y?000000000000000000000 Fxz)OOO
goooooo

X2 = D o(fi — Fag) w; (3.19)
2
0000 f;0 4 0000000w; 00000000DO0O000OO0DOODOODODOODOODOOODOODOOd
00w, 000000000000000000000000w;000000000000000 %20
ooooooooon
D00F(x)00000000

F(x) = Z an Ry () (3.20)



goobobobooooooooooobobob0 MOoOUbobobobo NODODOOOoDO
gbooboobogobog

M-1
Flz) = Y apxy (3.21)
n=0

00000000000000\?000000000000000

Ao -+ Aoy -0 Agm— ap bo
Ao o Ay - Aiua ay by
l l l l _ l (3‘22)
Aip - Ay o Ajma a; b;
l l l l l
Apv-10 o0 Am-ry o0 Am—i,m— an—1 bar—1
gooo
N
Apn = Z wir!"" = w4+ w4+ wa?\,”" (3.23)
=1
N
b, = Z ’wlle’;n = wlflljln + w2f21‘72n + -+ ’lll]\]f]\rl‘?\;1 (3.24)
i=1

gobooboooboobooooboobooobboib e, 0000 b0o0bogn
00000:;000000000000w;00000000000000000 2000000000

1

g
00000000000000000 ¢?000000000000000000000000O0000
godobooooooooodooooooooooooouooooooooouoooao XZI:JI:II:J
oooo NO XQDDDDDDDDDDDDDXQDDDD o000 100oobobouooooooooaa

X1, Xo,---, Xy 000000

N
Y = Y X7 (3.26)
=1

0000000, 0000000000000000000000000000

000000000000000000000000000 \?0000000000000000
goodobboboobtotbooooooobobooooogoob bbb booooooubobooboooo
000000000000000000000000 NODOOOOy?4+2N00000000000
(AIC: Akaike’s Information Criterion) 000000000

ooooo 3-50
gbbodobbooobuoobbooobodgbooobooabobd

o000 x fi o
1 0.0 1.0 0.5
2 1.0 2.0 0.9
3 2.0 3.0 0.1
4 3.0 -20 0.5
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